I am going to read you a list of statements various people have made
about what might happen now that there is a free tradc agreement
between Canada and the United States. For each one, I'd like you to
tell me whether you think it js very likely, somewhat 1likely,
somewhat unlikely, or very unlikely, that this will result? The
first one is...(READ AND ROTATE STATEMENTS 6-17)
6. Overall, there will be more jobs gained than lost in Canada.
VERY UNLIK!LYQICI.Q."Il.l...'l
SOMEWHAT UNLIKELY¢soooessa0sca
SOMEWHAT LIKELYeseeeoonrsnoosel
VERY LIKELY.Q....'...C'.'I.‘0l4
NO OPINION (VOLUNTEERED)....s.5

7. Prices of many goods imported from the Unxced States into Canada

will be lower.

VERY UNLIKELYOlOO|00'..‘0‘.0.01
SOMEWHAT UNLIKELY.:eovovsesnae2
SOHEwHAT LIKELYI'.....'.'I'...3
VERY LIKELY;I.....C.'.........“
NO OPINION (VOLUNTEERED)..sessd

We will be able to maintain current government programs such as
unemployment insurance and health insurance.

VERY UuLIKELY.....00..0..'.0..1
SOMEWHAT -UNLIKELY osversvovosed
SOMEHHAI LIKELY.......I...'.OOS
VERY LIKELYOI.l...".."."l004
NO OPINION (VOLUNTEERED):essesd

9. Many American companies will close their plants in Canada.
VERY UNLIKELYsovoscoaossosesael
sonEwHAT UNLIKELY'.Q.".....'.Z
SOMEWHAT LIKELYeoseeasososeccad
VERY LIKELYI....I...’l’...l...4
NO OPINION (VOLUNTEERED)seeessd
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